MR R - WM AR

(TECC)

XK Fr 7R

T7BB, T67CB, T6CC %7l
T67DB, T6DC, T6DDS % 7
T67EB, T6EC, T6ED, TEEE # ¥l

u.be- //, Vs £

ay

#4+f: T6CC-025-020-1R00-C100 - T6DC-045-014-2R00-C1

1. J¥de-025-020-1R00-C100 ....................... &F|E 3. T6CC-025-020{JR00-C100 ..................... i
T67CB | T6CC 4. TECC-{IEE-{IEU-1|:ho-Cim ........................... i fi]
T7BBS | rg7cBW! TECCW' .
SAE#%¥ [T67DB |T6DC | .= Mg £t "
T67DBW?| TeDCW? | TOPDS W L
T67EB | T6EC T6ED TGEES’® :
peTEET — —— i :iijﬁj:i‘: :@-ﬂu Cl::g ;-m] H'ﬁi_;
' T67CBW. TG UnT ¢, 2 B AL . {9100 .................. #ilB
2 TE7DBW. T6D N6 5 & 1t 7. T6CC-025-020-1R00-CHOO ................... #HH%
3 i g = T —
TGEE / TGEES: W “{{lxFESzim K E" #4. THRE:: ¥4 1
2. T6CCAEE-FEN-1R00-C100 ................... E SRS 5 BRI 6yt O FELA O i 5
= G ~ E 8. T6CC-025-020-1RO0-C1lY .................... liCI R
BO2......... 5.8 [ 003......10.8 [014.......47.6 |042.... 132.3 -
B03.....9.8 | 005.....17.2 | 017.......58.2 | 045..... 142.4 58 i CHE ZAREX s i AREX
BO4....12.8 | 006......21.3 | 020......66.0 | 050..... 158.5 5 P1 P2 | “HIMREL | UNC $El
B05......15.9 |008......26.4 |024......79.5 | 052..... 164.8 T7BB 2% |17 - %] % |M0-M :
B06.....19.8 |010......34.1 |028....89.7 |057...179.8 T7BBS | 2% [1° - %) % |MO-M1| 00 - 01
B07......22.5 |012.....37.1 |031.....98.3 | 062.... 196.7 T67CB | 2%’ 1" [1"-%|M0-M1 | 00-0
B0S.....24.9 | 014..... 46.0 |035... 111.0 | 066.... 213.3 Tece —= SRR O - WO | 00 - 01
B10......31.8 |017......58.3 | 038.....120.3 | 072..... 227 1 2 %" ] 1M - W1 | 10 - 11
B12......41.0 | 020......63.8 |042.....136.0 | 085..... 269.0 TEDC 3 1%" B L& | EER
B15.......50.0 | 022......70.3 | 045..... 145.7 T6DDS 4" 1% | 1% Mo 00
0285....... 79.3 [050..... 158.0 T67EB | 3% 13" 1" - %°) MO-M1 | 00-01
028.... 888 T6EC | 3w | 1w i L&MW | &M
031.... 100.0 TGED 4" 1%" | 1% | E&E | T&SW
£2 i 2 L il P2 S Pl P2 P1
T1=2'3 Moo []. @ | [ []. Iz © [].
5




MR — X AR

- - -
-
i —. ...,I ' —_—
A W, ':.‘\ —H_N -E_
=5 8 .’
A A o |
. w '-._"
| VI 'E
M HSE (Nm) Rt (mm)
B T7BB |T7BBS|T67CB|T67DB T6DDS|TE7EB
T6CC | T6DC TSEC | L1 | L2 e K1x K2 H1 M1
T6ED
Te: 4k SAE (222) 238 | 238 582 | 31.7 |22.225-22.200 | 4.76 x4.71 | 24.53
| 1| F@: SAEC (@31) 721 | 688 836 | 49.3 |31.750-31.700 | 7.94 x 7.89 | 35.27 | M10 x 20.0
#il: SAE CC (238) 90.9 | 50.8 | 38.100 - 38.050 | 9.52 x 9.47 | 42,36 | M10 x 20.0
| THl: SAE BB (@25) 357 | 357 714 | 381 |25.400-25.370| 6.35x6.30 | 28.22 | MB x 16.0
5 T4 ik SAE (@31) 577 73.2 | 38.1 |31.750-31.700 | 7.94 x 7.89 | 35.27
4. SAE-CC ™ 91.0 | 50.8 | 38.100-38.050 | 9.52x9.47 | 42.36 | M10x 20
| [T ok SAE (@81) 577 | 61.9 | 38.1 | 31.750-31.700 | 7.94 x 7.89 | 35.27
{EHt: SAEB ° 40.7 | 245 | SAE J498b 1 &%, i21V 16/32, 13 ¥
3 | {Ek: SAE BB 545 455 | 24.5 | SAE J498b 1#E, 21 16/32, 15 5F
fE: SAEC ° 971 ® |557|380| SAEJ498b 18, i5% 12/24, 14
{Eit: SAE BB . 456 | 24.5 | SAE J498b 1 i, 315 16/32, 15
4 fEte: 4k SAE . 77.7 | 48.0 | SAE J498b 1 &, 1315 12/24, 14 %
{Ei: SAE BB 570 46.0 | 31.5 | SAE J498b 1 &, 1 16/32, 15 F
| [iEl: SAECC ® |622|315| SAEJ49Bb 18, 21 12/24 17
fEit: SAEB 343 407 | 245 | SAE J498b 1 i, =15 16/32, 13
5| Fie: 4k SAE (234) ° 883 834 | 60.0 |34.900-348B75| 7.94x7.89 | 3842 | MBx 16
i 1SO (@25) ® 70.0 | 40.0 | 25.006-24.993| BOx7.96 | 28.22
R|FiR: (@25) 302 ' 487 | 31.8 |25.400-25.370| 6.35x6.30 | 2822 | M8x 16
[v T (232) [ 545 " 89.0 | 50.0 | 32.000 - 31.960 | 10.00 x 9.98 | 35.40 | M12 x 24
[x T (@27) 423" 64.1 | 49.2 | 26.950- 26.920 | 6.35x6.30 | 29.85| M8x 16
W| T (@31) 545 ' 555 | 38.1 |31.750-31.700| 7.04x7.89 | 3527 | M8&x 16
| ' TE7CBW, TGCCW
*T67DBW, TEDCW
2-18




MR 3R - WK R

TeCC
E 38.1
F| 1016
G| 2656
I 88.2
J1| 101.60
T6CC J2| 101.55
TeDC N| 146.0
TeDDS O] 1745
TE6EC |@P| 143
T6ED T6DC
E 38.1
(F| 1143
G| 286.0
I | 1095
T6CC J1| 127.00
= - TeDC J2| 126.95
TEEC N| 1810
- 1 T6ED | 2124
@P| 175
| TeDDS
E 38.1
F| 1485
G| 3480
I | 1485
J1| 127.00
J2| 126.95
N 181.0
N1| 1145
-—— - 0| 2130
@p| 175
o = TEEC
1" B = i {I 'H Bl . . : - - ﬁ 1 ?g:
fe—— | | T600S | G| 3316
; || 1367
— || . -Jhx J1| 127.00
- I | ,ﬁ 126.95
- 181.0
z| | |- 1l S (8 = IZ 0| 2130
- @P| 175
R v | o | = o 50 N N T6ED
i 5Y ¥, [E| 523
V4 'F| 1335
1 i G| 361.0
] _E 1| 1482
s Ji| 127.00
J2| 126.95
- - N| 1810
0| 213.0
@P| 175
Jif (mm)
s T1 OME
B1
A1 @Cc1 D1 e ONG
P 1" 26.2 52.4 25.4 76.2 V/g-16UNC x 19.0
01-11: %" 22.2 47.7 19.0 76.2 :
T6CC P2 00-10: 1" 26.2 52.4 25.4 74.7 /a"16UNC x 19.0
s 10-11: 2 1&° 50.8 88.9 63.5 84.1 12"-13UNC x 23.9
00-01: 3 61.9 106.4 76.2 : “la-11UNC x 28.4
P1 1 %" 30.2 58.7 31.8 82.6 "la"-14UNC x 22.3
TeDC P2 i 26.2 52.4 25.0 74.7 “/g"-16UNC x 19.0
S 3 62.0 106.4 76.0 88.9 °lg™-11UNC x 28.4
P1 1 %" 30.2 58.7 31.8 82.6 Mi2x223 | "/i"-14UNC x22.3
TeDDS P2 1%" 30.2 58.7 31.8 101.6 M12x24.0 | "/;s14UNC x 24.0
_1 S 4" 77.8 130.2 101.6 115.0 M16 x 30.0 “ls" -11UNC x 30.0
P1 1% 35.7 69.8 37.1 98.4 12"-13UNC x 23.4
T6EC P2 1" 26.2 52.4 25.0 74.7 “Is"-16UNC x 19.0
S 3 ® 69.9 120.6 88.9 102.4 “ls"-11UNC x 29.5
P1 1 %" 35.7 69.8 37.1 98.4 ¥2"-13UNC x 23.4
TG6ED P2 1 %" 30.2 58.7 20.5 101.8 15" 14UNC x 24.0
S 4" 77.8 130.2 101.6 102.4 “1s"-11UNC x 30.0

2-19



MR — R AR

T7B8B
E 38.1
F 101.6
G| 2622
I 98.6
Ji| 100.00
- - e - R - JE gg.g?'
N 140.0
(o) 174.5
“IP| 14.0
i - T7BBS
? o I E 38.1
P F| 1016
o H G| 2622
1 I 98.6
J1| 101.60
! — J2| 101.55
N| 148.0
(8] 174.5
llep| 143
E T67CB
E 38.1
F 101.6
G| 2656
I 88.2
J1| 101.60
- - J2| 101.55
N 146.0
- 0| 1745
= 2P 14.3
T67DB
E 38.1
F 114.3
G| 286.0
I 109.5
Ji| 127.00
J2| 126.95
N 181.0
0| 2124
2P| 175
TG7EB
E 52.3
(F| 1185
| 136.7
J1| 127.00
J2| 12695
N 181.0
0| 2130
i@P 175
Rt (mm)
T1 s
iﬁ A Al B1 @c1 D1
oy | UNC
*1:3%" 222 47.6 19.0 3w
; 10 x 18. la"-16UNC x 19.0
ee | | e0:1 26.2 52.4 25.4 74.7 M10x 18.0 s
T7BBS p2 " 222 47.6 19.0 74.7 M10x 19.0 g"-18UNC x 19.0
S 2 15" 50.8 88.9 63.5 B4.1 M12x 22.4 % -13UNC x 23.9
P1 1" 26.2 52.4 25.4 76.2 M10 x 19.0 fa-16UNC x 19.0
T67CB P2 3" 222 47.7 19.0 76.2 M10 x 19.0 Y"-16UNC x 19.0
s 2 %" 50.8 88.9 63.5 84.1 M12 x 30.0 15£"-13UNC x 23.9
P1 1 %" 30.2 58.7 31.8 82.6 M12 x 223 1a™14UNC x 22.3
Te7DB P2 W 222 47.7 19.0 74.7 M10 x 19.0 Ya"-1BUNC x 19.0
s 3" 62.0 106.4 76.0 88.9 M16 x 28.4 “fs"=-11UNC x 28.4
P1 1 %" 35.7 69.8 37.1 98.4 M12 x 23.5 1. 13UNC x 23.4
T67EB P2 3" 222 47.7 19.0 747 M10 x 19.0 We-16UNC x 19.0
s 3 %" 69.9 120.6 88.9 102.4 M16 x 29.5 a"=11UNG x 29.5

2-20




